1~ BRI AR
(-)RBRKBEEFREIE
L R103E B g ¥ 3 £k 29, 234 2

o B E6T.33% 5 5% 0 33,000 % 4
Z A7 32,1002 % F B#cT. 18% (4r& 921

HY 37+ E419, 683
2810, 26%=x 2. &
~410)

AN

18 ~ i sy b e i 1 An— 4 Kk

74,600
20,000 |
16,000 |
12,000 |
8000 |
4000 |

0

# F % % % E I G
7”‘ %} ‘:’ r$ 2@. T fé,_ T
W W W W W B W W

(Z)®eE kg aken

NF103E R i i kg 114,527 % > He v d s
# 53,2302 ¢} % #c46.48% 5 B % 0 B 27 30,8002 ¢} ¥
26.89%=x 2. » % = i @ #5%22,369= % § H#c19.53% c (dr& 921~
%10)

B9 Fa Pk g sk § 13—k
LK103# B

o R

60,000

40,000

20,000

AN AT T S A N O
N T O G
L L T T T [ S ¢ - S -



(Z)FBPRE LA

w:uow B R h ;mlg? AT22 % 5 B¢ A 3
32,3062 € kL8233 14A 5 0 BRI, 5245 ¢k ALEEDS. 935
Z2 o HZ A5 R12,5552 ¢ F gdicz 12.88% o (4r£ 921~ 4

1@
B120 ~ W3R B—RRE

A A R103# &
36,000
30,000 |
24,000
18,000
12,000
6,000
0 i ’
Mt E 3T s 2 EELTCEMNES
AFY s R AEALALEY S R
2 s S s S = - S - -« - -« Q- W - Q¢ - S B -
(z)F®EBR-LLB 2 /[ 148
%@ﬂlOSﬁfﬁ“‘ 22 JA0E PR R 2E53,07H ' > H P 0w E 4k

Fell, 8312 = f 82 22, 08%5 % » §; 1 5410, 3302 = F ik
19. 28%=x 2 » % = 13253571'/:9 27327 f B2 17.31% (e 921 »
#10)

BI21 ~ " PR 2 2 B0 12— KR

o AF103# &

12,000

10,000

8,000

6,000

4,000

2,000 |

0 | |

Mt EE 3T v e 2 ERTAE 4
AR s ECRFELLS AP
N T S S - - Q- Q- W - - - - S B B -1

21



(3 )’épié%#%’wﬁz-;%;l yid

%@10335:?‘: ‘#b}ciﬁf‘;§415,2042} T, Hod .mﬁm
221,617= = @ #ic2 53, 38%% % is’m 86,0302 = § A&
20.72%=% 2. > %= 5 £ 2244, 0722 % F B2 10.61% - (%zr'z\» 92

1~ %10)
FI22 ~ B 5 K g 1 AE kS
ne \ {103 &
240,000
%,
200,000 Z
%
160,000 Z
2
120,000 Z
2
80,000 Z
2
40,000 Z
%
0 _/ 74 P 1
i i el z % FI E_a R ’?5' £
Aod OB O OE K B OB AP
LA B - SR SR -« A -« S -« S A A A 1

()% 38 K 325 4 )

LBL034 T p KRR £ AR 20,0212 0 H 2
& 75,4772 ¢ | k2 26, 05%5 5 > F KBRS, 1422 | ik
24.4B%=5 2 » %2 551 B4, 1102 ¢ 2 19,550 o (4% 922 -

#10)

Bl23 ~ "B RE T LI R — PR

o A F103#

5,600

4,800

4,000

3,200

2,400

1,600

800

0

o d 43 742 &2 B 4 &
PUON: S B S S-S A TR T S S G G S 3
L B B B A N N

22



